2011 Geography

Question 10

Refer to Source A to answer Questions 6—-10.

Source A - Central Park and Surrounds (New York)
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2011 Geography

How long would it take a person walking at 4 km/h to walk from the Post Office (GR
629987) to the southern corner of 116th Street and Third Avenue?

A X 31 mins
B v 37 mins
C X 53 mins
D X 60 mins
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HSC Statistics on this Question:
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Band 3/4 Band 4/5 Band 5/6

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 30% 18%
B 30% 42%
C 22% 22%
D 18% 18%
N 0% 1%

14%
57%
16%
13%
0%

10%
74%
7%
9%
0%

6%
85%
4%
5%
0%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.
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